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1. You earned 192 coins in one run. You bought two speed boosts that
cost 60 coins each. How many coins did you have left?

coins

2. In a game sequel, the taxi costs four times as much as the car.
If the car costs 85 coins, what is the cost of the taxi?

coins

3. Car insurance costs twice as much as a speed booster. Together
they cost 120 coins. How much does car insurance cost?

coins

4. You collected 240 coins in one run. You spent 1/4 of your coins on
a new super booster. How many coins did you spend?

coins

5. A rocket car costs 450 coins. You've collected 1/3 of the coins.
How many more coins must you collect to buy the rocket car?

more coins
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